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ꢀ ꢅꢎꢒꢝꢡꢸꢦꢅꢗꢓꢚꢩꢘꢒꢸꢦꢅꣅꢚꢑꢞꢪꢑꢜꢅꢘꢅꢑꢐꣅꢚꢑꢞꢪꢑꢜꢅꢝꢞꢚꢟꢚꢠꢔꢒꢓꢡꢺꢅꢝꢅꢗꢡꢘꢟꢔꢡꢑꢜꢅꢪꢠꢔꢑꢞꢺꢅꢙꢐꢅꢗꢓꢅꢙꢗꢓꢒꢴꢐꢣꢓꢕꢔꢑꢜꢅꢙꢒꢔꢕꢝꢛꢜꢅꢝꢚꢒꢓꢟꢝꢒꢘꢫꢞꢺꢅꢑꢐꢣꢐꢥꢗꢐꢪꢑꢵꢟꢅ 
ꢓꢖꢗꢝꢖꢐꢟꢬꢅ ꣆ꢐꢥꢅ ꢀꢴꢔꢖꢑꢸꢅ ꢡꢐꢫꢺꢞꢠꢝꢫꢐꢅ ꢟꢓꢧꢓꢚꢅ ꢕꢔꢩꢑꢳꢅ ꢓꢧꢡꢓꢥꢘꢒꢅ ꢩꢘꢕꢓꢒꢑꢜꢅ ꢗꢡꢓꢙꢒꢴꢐꢖꢜꢬꢅ ꢂꢅ ꢑꢝꢗꢡꢓꢙꢒꢸꢅ ꢕꢳꢒꢵꢼꢘꢑꢳꢅ ꢗꢴꢜꢗꢝꢖꢻꢅ ꢓꢣꢙꢝꢧꢚꢛꢜꢅ ꢀꣃꢣꢝꢒꢐꢡꢘꢐ꣄ꢅ 
ꢑꢐꢣꢐꢥꢗꢐꢪꢑꢸꢅꢫꢧꢐꢟꢘꢫꢞꢸꢅꢗꢡꢕꢞꢺꢅꢝꢅꢙꢠꢓꢚꢪꢐꢑꢘꢑꢺꢦꢅꢑꢝꢗꢴꢬꢅꢓꢠꢓꢕꢓꢦꢅꢞꢝꢖꢟꢘꢚꢟꢦꢅꢡꢒꢚ꣇ꢦꢅꢞꢺꢙꢐꢠꢘꢑꢚꢅꢙꢜꢡꢓꢕꢓꢚꢅꢝꢅꢖꢝꢠꢵꢼꢜꢦꢅꢠꢘꢖꢙꢞꢸꢟꢚꢅꢓꢡꢹꢝꢑꢘꢙꢟꢚꢅꢵꢼꢞꢓꢖꢠꢘꢕꢸꢅ 
ꢢꢛꢐꢖꢓꢕꢝꢒꢸꢤꢅꢠꢔꢒꢞꢺꢬꢅꢏꢺꢅꢙꢐꢅꢟꢓꢧꢓꢚꢅꢕꢠꢘꢕꢐꢟꢅꢵꢼꢗꢝꢒꢑꢸꢧꢓꢅꢚꢠꢓꢩꢐꢑꢜꢅꢚꢕꢓꢠ꣈ꢓꢕꢝꢒꢅꢖꢓꢅꢓꢞꢓꢠꢑꢜꢧꢓꢅꢗꢡꢓꢙꢒꢴꢐꢖꢜꢅꢝꢅꢥꢝꢟꢓꢴꢘꢒꢅꢛꢐꢛꢬꢅꢃꢠꢓꢕꢳꢑꢸꢅꢝꢞꢚꢟꢚꢠꢔꢒꢓꢡꢺꢦꢅ 
ꢝꢠꢐꢅ ꢘꢅ ꢖꢝꢠꢵꢼꢜꢅ ꢒꢺꢗꢺꢅ ꢐꢠꢐꢞꢒꢡꢓꢫꢧꢐꢟꢘꢫꢞꢵꢫꢧꢅ ꢥꢖꢡꢓꢛꢻꢅ ꢑꢐꢠꢥꢐꢅ ꢠꢘꢞꢕꢘꢖꢓꢕꢝꢒꢅ ꢙꢗꢓꢠꢐꢪꢑꢳꢅ ꢙꢅ ꢞꢓꢟꢚꢑꢔꢠꢑꢜꢟꢅ ꢓꢖꢗꢝꢖꢐꢟꢽꢅ ꢀꢷꢓꢑꢐꢪꢑꢵꢅ ꢙꢗꢓꢒꢴꢐꢣꢘꢒꢐꢠꢅ ꢟꢔꢅ 
ꢗꢓꢕꢘꢑꢑꢓꢙꢒꢅꢒꢐꢑꢒꢓꢅꢖꢡꢚꢧꢅꢓꢖꢗꢝꢖꢚꢅꢓꢖꢐꢕꢥꢖꢝꢒꢅꢑꢝꢅꢟꢜꢙꢒꢓꢅꢥꢗꢳꢒꢑꢸꢧꢓꢅꢓꢖꢣꢳꢡꢚꢬꢅ 
ꢅꢅꢇꢄꢆꢈ꣉ꢆꢅꢓꢖꢅꢂꢔꢙꢅꢛꢝꢞꢸꢞꢓꢠꢘꢕꢅꢗꢓꢚꢩꢘꢒꢸꢅꢝꢞꢚꢟꢚꢠꢔꢒꢓꢡꢺꢅꢘꢅꢪꢠꢔꢑꢞꢺꢅꢓꢖꢐꢣꢐꢡꢐꢟꢐꢅꢝꢅꢥꢝꢛꢘꢙꢒꢜꢟꢐꢅꢛꢐꢛꢘꢫꢧꢅꢴꢔꢖꢑꢓꢚꢅꢡꢐꢫꢺꢞꢠꢝꢫꢘꢅꢪꢘꢅꢠꢘꢞꢕꢘꢖꢝꢫꢘꢬꢅꢰꢓꢖꢠꢐꢅ 
ꢥꢔꢞꢓꢑꢝꢅ ꢓꢅ ꢓꢖꢗꢝꢖꢐꢫꢧꢅ ꢟꢔꢅ ꢞꢝꢩꢖꢔꢅ ꢓꢣꢐꢫꢅ ꢗꢓꢕꢘꢑꢑꢓꢙꢒꢅ ꢥꢝꢛꢘꢙꢒꢘꢒꢅ ꢟꢜꢙꢒꢝꢦꢅ ꢞꢝꢟꢅ ꢟꢓꢧꢓꢚꢅ ꢛꢐꢛꢜꢅ ꢓꢣꢺꢕꢝꢒꢐꢠꢸꢅ ꢓꢖꢞꢠꢔꢖꢝꢒꢅ ꢑꢐꢣꢐꢥꢗꢐꢪꢑꢸꢅ ꢙꢠꢓꢩꢞꢺꢅ 
ꢞꢓꢟꢚꢑꢔꢠꢑꢜꢧꢓꢅꢓꢖꢗꢝꢖꢚꢬꢅꢰꢓꢚꢩꢘꢒꢸꢅꢣꢝꢒꢐꢡꢘꢐꢅꢝꢅꢪꢠꢔꢑꢞꢺꢅꢒꢝꢞꢸꢅꢟꢻꢩꢐꢒꢐꢅꢕꢩꢖꢺꢅꢓꢖꢐꢕꢥꢖꢝꢒꢅꢒꢝꢟꢦꢅꢞꢖꢐꢅꢞꢓꢚꢗꢜꢒꢐꢅꢑꢓꢕꢸꢬꢅꢆꢖꢡꢐꢙꢺꢅꢟꢜꢙꢒꢅꢥꢗꢳꢒꢑꢸꢧꢓꢅ  
ꢓꢖꢣꢳꢡꢚꢅꢑꢝꢠꢐꢥꢑꢐꢒꢐꢅꢑꢝꢅ꣊ꢐꢣꢓꢕꢵꢫꢧꢅꢙꢒꢡꢔꢑꢞꢔꢫꢧꢲꢅꢧꢒꢒꢗꢲ꣋꣋꣊꣊꣊ꢬꢡꢐꢟꢝꢣꢝꢒꢒꢐꢡꢺꢬꢫꢥ 

ꢀ ꢅ꣌ꢐꢖꢑꢓꢒꢠꢘꢕꢸꢅꢖꢡꢚꢧꢺꢅꢝꢞꢚꢟꢚꢠꢔꢒꢓꢡꢻꢅꢙꢐꢅꢓꢖꢅꢙꢐꢣꢐꢅꢕꢵꢡꢝꢥꢑꢳꢅꢠꢘꢵꢼꢜꢬꢅꢂꢅꢗꢴꢜꢗꢝꢖꢳꢅꢕꢵꢟꢳꢑꢺꢅꢙꢒꢝꢡꢸꢅꢝꢚꢒꢓꢣꢝꢒꢐꢡꢘꢐꢅꢥꢝꢅꢑꢓꢕꢓꢚꢅꢛꢐꢅꢒꢴꢐꢣꢝꢅꢴꢜꢖꢘꢒꢅꢙꢐꢅꢗꢓꢞꢺꢑꢺꢅ 
ꢕꢵꢡꢓꢣꢫꢐꢅꢖꢓꢗꢡꢝꢕꢑꢜꢧꢓꢅꢗꢡꢓꢙꢒꢴꢐꢖꢞꢚꢅꢢꢝꢚꢒꢓꢟꢓꢣꢘꢠꢚꢦꢅꢝꢚꢒꢓꢣꢚꢙꢚꢅꢝꢒꢖꢬꢤꢦꢅꢛꢐꢑꢩꢅꢖꢐꣅꢘꢑꢚꢛꢐꢦꢅꢞꢒꢐꢡꢵꢅꢒꢺꢗꢅꢝꢞꢚꢟꢚꢠꢔꢒꢓꢡꢚꢅ 
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ꢀ  ꢀꢁꢂꢃꢄꢅꢁꢆꢂꢇꢄꢈꢂꢉꢈꢆꢉꢄꢊꢋꢆꢌꢂꢍꢃꢋꢈꢎꢈꢏꢐꢑꢒꢂꢓꢆꢔꢋꢍꢑꢍꢕꢁꢂꢆꢁꢖꢗꢈꢘꢆꢊꢗꢈꢂꢋꢙꢇꢃꢂꢍꢃꢋꢈꢏꢍꢋꢁꢄꢐꢁꢂꢎꢚꢛꢁꢂꢎꢌꢋꢂꢜꢍꢂꢆꢝꢔꢑꢁꢘꢁꢉꢂ ꢁ ꢌꢂꢆꢁꢖꢄꢍꢋꢆꢊꢂꢇꢈꢞꢉꢈꢜꢁꢆꢌꢟꢂꢖꢂ  
ꢗꢈꢄꢞꢌꢎꢂꢇꢠꢌꢇꢍꢘꢡꢂꢐꢂꢇꢈꢞꢉꢈꢜꢁꢆꢌꢂꢘꢈꢇꢄꢍꢖꢆꢌꢗꢈꢂꢇꢄꢈꢔꢋꢠꢁꢘꢉꢃꢂꢅꢐꢂ ꢁꢗꢈꢂꢜꢍꢠꢌꢜꢁꢆꢌꢒꢂꢢꢝꢄꢃꢉꢃꢂꢖꢂꢋꢍꢉꢈꢖꢊꢎꢂꢇꢠꢌꢇꢍꢘꢡꢂꢆꢁꢑꢜꢁꢂꢃꢜꢆꢍꢋꢂꢍꢆꢐꢂꢜꢁꢂꢔꢋꢄꢍꢆꢙꢂ  
ꢘꢈꢘꢍꢖꢍꢋꢁꢑꢁꢂꢆꢝꢗꢄꢍꢘꢆꢌꢂꢏꢍꢋꢁꢄꢐꢁꢟꢂꢍꢆꢐꢂꢜꢁꢂꢔꢋꢄꢍꢆꢙꢂꢖꢣꢄꢈꢏꢕꢁꢂꢎꢈꢋꢈꢄꢈꢖꢊꢗꢈꢂꢖꢈꢜꢐꢘꢑꢍꢂꢤꢔꢇꢈꢋꢠꢁꢏꢐꢅꢁꢥꢒ 

ꢦꢂꢢꢝꢔꢍꢗꢙꢂꢘꢈꢂꢉꢈꢆꢔꢋꢄꢃꢉꢕꢁꢂꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢃꢟꢂꢖꢂꢇꢠꢌꢇꢍꢘꢡꢂꢇꢈꢄꢃꢕꢗꢙꢂꢅꢐꢂꢎꢁꢕꢗꢍꢆꢐꢕꢉꢊꢗꢈꢂꢇꢈꢞꢉꢈꢜꢁꢆꢌꢟꢂꢆꢁ ꢔꢈꢃꢂꢇꢈꢖꢈꢑꢁꢆꢙꢒꢂ 

a) popis 

ꢂꢂꢧꢏꢁꢕꢆꢡꢂꢇꢑꢍꢋꢌꢟꢂꢛꢁꢂꢏꢁꢜꢨꢘꢄꢛꢏꢈꢖꢣꢂꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢂꢆꢁꢖꢙꢛꢍꢘꢃ ꢁꢂꢇꢈꢂꢕꢁꢑꢈꢃꢂꢘꢈꢏꢃꢂꢔꢖꢊꢂꢛꢐꢖꢈꢋꢆꢈꢔꢋꢐꢂ ꢍꢉꢈꢃꢉꢈꢑꢐꢖꢂꢨꢘꢄꢛꢏꢃꢒꢂꢩꢈꢋꢈꢂꢋꢖꢄꢜꢁꢆꢌꢂꢇꢑꢍꢋꢌꢂꢖꢞꢍꢉꢂ 
ꢇꢈꢃꢜꢁꢂꢜꢍꢂꢇꢠꢁꢘꢇꢈꢉꢑꢍꢘꢃꢟꢂꢛꢁꢂ ꢁꢂꢇꢄꢈꢖꢈꢜꢈꢖꢝꢆꢂꢜꢍꢂꢈꢇꢋꢐꢎꢝꢑꢆꢌꢕꢗꢂꢇꢈꢘꢎꢌꢆꢁꢉꢒꢂꢧꢇꢋꢐꢎꢝꢑꢆꢌꢎꢐꢂꢇꢄꢈꢖꢈꢜꢆꢌꢎꢐꢂꢇꢈꢘꢎꢌꢆꢉꢍꢎꢐꢂꢔꢁꢂꢃꢂꢍꢃꢋꢈꢏꢍꢋꢁꢄꢐꢁꢂ  
ꢄꢈꢜꢃꢎꢌꢂꢇꢠꢁꢘꢁꢖꢞꢌꢎꢪ 

ꢦꢂꢇꢄꢍꢖꢐꢘꢁꢑꢆꢊꢂꢇꢈꢃꢛꢌꢖꢝꢆꢌꢂꢤꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢂꢆꢁꢆꢌꢂꢘꢑꢈꢃꢗꢈꢘꢈꢏꢡꢂꢎꢐꢎꢈꢂꢇꢄꢈꢖꢈꢜꢥꢟꢂꢇꢄꢈꢖꢈꢜꢆꢌꢂꢇꢠꢁꢔꢋꢝꢖꢉꢙꢂꢆꢁꢏꢣꢖꢍ ꢌꢂꢘꢁꢑꢞꢌꢂꢆꢁꢛꢂꢆꢡꢉꢈꢑꢐꢉꢂꢘꢆꢚꢟꢂꢎꢍꢫꢒꢂ 
ꢬꢂꢭꢂꢮꢂꢋꢣꢘꢆꢙꢟꢂꢐꢂꢖꢂꢋꢍꢉꢈꢖꢊꢎꢂꢇꢠꢌꢇꢍꢘꢡꢂ ꢁꢂꢋꢠꢁꢏꢍꢂꢜꢍ ꢐꢔꢋꢐꢋꢂꢘꢈꢘꢍꢋꢁꢅꢆꢊꢂꢘꢈꢏꢐꢋꢌꢟꢂ ꢔꢈꢃꢯꢑꢐꢂꢖꢁꢂꢖꢈꢜꢐꢘꢑꢁꢂꢔꢇꢈꢋꢠꢁꢏꢐꢅꢁꢟꢂꢉꢋꢁꢄꢊꢂꢖꢙꢛꢍꢘꢃ ꢌꢂꢆꢁꢃꢔꢋꢝꢑꢊꢂ  
ꢆꢍꢇꢝ ꢁꢆꢌꢂꢤꢍꢑꢍꢄꢎꢟꢂꢐꢎꢈꢏꢐꢑꢐꢜꢊꢄꢟꢂꢋꢍꢕꢗꢈꢰꢄꢍꢱꢂꢍꢋꢘꢒꢥ 
ꢦꢂꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢂ ꢁꢂꢇꢈꢃꢛꢌꢖꢝꢆꢂꢜꢁ ꢎꢊꢆꢍꢂꢉꢂꢨꢅꢁꢑꢃꢂꢔꢋꢍꢄꢋꢈꢖꢝꢆꢌꢟꢂꢍꢑꢁꢂꢆꢁꢂ ꢍꢉꢈꢂꢋꢄꢍꢉꢅꢆꢌꢂꢅꢐꢂꢔꢋꢍꢆꢐꢅꢆꢌꢂꢜꢘꢄꢈ ꢂꢁꢆꢁꢄꢰꢐꢁꢂꢤꢕꢙꢉꢑꢐꢕꢉꢣꢂꢄꢁꢛꢐꢎꢂꢍꢂꢖꢙꢏꢌ ꢁꢆꢌꢂ 
ꢇꢈꢘꢂꢲꢳꢂꢴꢂ ꢎꢁꢆꢈꢖꢐꢋꢊꢂꢉꢍꢇꢍꢕꢐꢋꢙꢂꢔꢋꢍꢄꢋꢈꢖꢍꢕꢌꢂꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢂꢖꢣꢄꢍꢜꢆꢡꢂꢈꢇꢈꢋꢠꢁꢏꢈꢖꢝꢖꢝꢥ 
ꢦꢂ ꢘꢈꢔꢋꢍꢋꢁꢅꢆꢊꢂ ꢘꢈꢏꢌ ꢁꢆꢌꢂ ꢤꢖꢈꢜꢐꢘꢑꢈꢂ ꢀ ꢀꢁꢂ ꢇꢈꢂ ꢆꢍꢔꢋꢍꢄꢋꢈꢖꢝꢆꢌꢂ ꢖꢂ ꢆꢁꢇꢠꢁꢋꢄꢛꢐꢋꢊꢎꢂ ꢇꢄꢈꢖꢈꢜꢃꢂ ꢍꢑꢁꢔꢇꢈꢵꢂ ꢮꢳꢂ ꢎꢐꢆꢃꢋꢟꢂ ꢎꢈꢋꢈꢄꢂ ꢀ ꢀꢁꢂ ꢇꢈꢂ ꢕꢁꢑꢈꢃꢂ ꢘꢈꢏꢃꢂ 
ꢆꢍꢔꢋꢍꢄꢋꢈꢖꢝꢆꢂꢍꢂꢍꢑꢋꢁꢄꢆꢝꢋꢈꢄꢂꢔꢋꢍꢅꢌꢂꢘꢈꢇꢑꢆꢐꢋꢂꢁꢆꢁꢄꢰꢐꢐꢂꢔꢇꢈꢋꢠꢁꢏꢈꢖꢍꢆꢈꢃꢂꢬꢒꢂꢔꢋꢍꢄꢋꢁꢎꢥ 
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ꢘꢁꢔꢋꢐꢑꢈꢖꢍꢆꢊꢂ ꢖꢈꢘꢙꢟꢂ ꢍꢑꢁꢂ ꢘꢐꢔꢇꢈꢆꢃ ꢌꢂ ꢑꢍꢏꢙꢄꢐꢆꢋꢈꢖꢣꢎꢂ ꢔꢙꢔꢋꢊꢎꢁꢎꢂ ꢈꢘꢖꢈꢘꢃꢂ ꢇꢑꢙꢆꢚꢟꢂ ꢀ ꢀꢁꢆꢛꢂ ꢕꢗꢄꢝꢆꢌꢂ ꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢂ ꢇꢄꢈꢋꢐꢂ ꢆꢁꢕꢗꢋꢡꢆꢊꢎꢃꢂ ꢨꢆꢐꢉꢃꢂ 
ꢀꢁꢑꢁꢉꢋꢄꢈꢑꢙꢋꢃꢂꢖꢂꢇꢠꢌꢇꢍꢘꢡꢂꢇꢠꢁꢖꢄꢛꢁꢆꢌꢒ 

ꢀ  ꢀ ꢂꢃꢄꢅꢆ ꢇꢈꢂꢉꢊꢋꢇꢄꢌꢍꢎꢏꢐꢈꢂꢑꢇꢏꢒꢓꢔꢋꢇꢕꢖꢂꢇꢂꢓꢅꢍꢏꢐꢂꢓꢌꢑꢌꢕ 

ꢂꢂ ꢁꢯꢑꢐꢂꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢂꢇꢄꢈꢖꢈꢜꢈꢖꢝꢆꢂꢜꢍꢂꢈꢇꢋꢐꢎꢝꢑꢆꢌꢕꢗꢂꢇꢈꢘꢎꢌꢆꢁꢉꢟꢂꢆꢁꢖꢙꢛꢍꢘꢃ ꢁꢂꢇꢄꢍꢉꢋꢐꢕꢉꢙꢂꢛꢝꢘꢆꢈꢃꢂꢨꢘꢄꢛꢏꢃꢒꢂꢸꢂꢈꢇꢍꢅꢆꢊꢎꢂꢇꢠꢌꢇꢍꢘꢡꢂ ꢁꢂꢋꢠꢁꢏꢍꢂ 
ꢜꢍ ꢐꢔꢋꢐꢋꢂꢏꢃ꣈ꢂꢜꢎꢡꢆꢃꢂꢇꢄꢈꢖꢈꢜꢆꢌꢕꢗꢂꢇꢈꢘꢎꢌꢆꢁꢉꢂꢆꢁꢏꢈꢂꢜꢍꢅꢌꢋꢂꢔꢂꢇꢄꢍꢖꢐꢘꢁꢑꢆꢈꢃꢂꢨꢘꢄꢛꢏꢈꢃꢒꢂ ꢁꢘꢆꢈꢃꢂꢜꢂꢗꢑꢍꢖꢆꢌꢕꢗꢂꢜꢝꢔꢍꢘꢂꢃꢛꢌꢖꢝꢆꢌꢂꢈꢑꢈꢖꢡꢆꢣꢕꢗꢂ  
ꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢚꢂ ꢁꢂꢘꢈꢔꢋꢍꢋꢁꢅꢆꢊꢂꢘꢈꢏꢌ ꢁꢆꢌꢂꢤꢆꢁꢂꢇꢠꢁꢏꢌ ꢁꢆꢌꢥꢒꢂ꣉ꢂꢃꢜꢍꢖꢠꢁꢆꢊꢗꢈꢂꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢃꢂꢤꢏꢁꢜꢂꢜꢝꢋꢁꢉꢥꢂ ꢁꢂꢋꢈꢂꢐꢂ ꢁꢘꢐꢆꢝꢂꢎꢈꢛꢆꢈꢔꢋꢟꢂ ꢍꢉꢂ ꢁ ꢂꢑꢜꢁꢂ 
ꢃꢘꢄꢛꢈꢖꢍꢋꢒ 

ꢗꢄꢅꢆ ꢇꢘ 

ꢦꢂꣂꢉꢃꢎꢃꢑꢝꢋꢈꢄꢂꢃꢘꢄꢛꢃ ꢋꢁꢂꢆꢁꢃꢔꢋꢝꢑꢁꢂꢖꢂꢆꢍꢏꢐꢋꢊꢎꢂꢔꢋꢍꢖꢃꢒꢂ ꢡꢠꢁꢆꢌꢎꢂꢉꢑꢐꢘꢈꢖꢊꢗꢈꢂꢆꢍꢇꢡꢋꢌꢂꢍꢑꢁꢔꢇꢈꢵꢂꢷꢂꢗꢈꢘꢐꢆꢂꢇꢈꢂꢈꢘꢇꢈ ꢁꢆꢌꢂꢜꢂꢆꢍꢏꢌ ꢁꢅꢁꢂꢜ ꢐꢔꢋꢌꢋꢁꢂ  
ꢀ  ꢀꢁꢗꢈꢂꢈꢄꢐꢁꢆꢋꢍꢅꢆꢌꢂꢔꢋꢍꢖꢂꢆꢍꢏꢐꢋꢌꢂꢤꢖꢐꢜꢒꢂꢋꢍꢏꢃꢑꢉꢍꢂꢔꢋꢍꢖꢂꢆꢍꢏꢐꢋꢌꢂꢖꢂꢉꢍꢇꢐꢋꢈꢑꢁꢂꢺꢻꢥꢒ 
ꢦꢂ ꢁꢯꢑꢐꢂꢍꢉꢃꢎꢃꢑꢝꢋꢈꢄꢂꢏꢁꢜꢨꢘꢄꢛꢏꢈꢖꢣꢟꢂꢍꢑꢁꢂꢇꢠꢁꢔꢋꢈꢂꢘꢐꢔꢇꢈꢆꢃ ꢁꢂꢜꢝꢋꢉꢍꢎꢐꢂꢤꢆꢍꢇꢠꢒꢂꢃꢉꢄꢙꢋꢣꢎꢐꢂꢇꢈꢘꢂꢔꢍꢎꢈꢑꢁꢇꢌꢕꢌꢎꢂꢞꢋꢌꢋꢉꢁꢎꢥꢂꢎꢚꢛꢁꢋꢁꢂꢜꢉꢈꢆꢋꢄꢈꢑꢈꢖꢍꢋꢂ 
ꢘꢑꢁꢂꢇꢈꢋꢠꢁꢏꢙꢂꢤꢇꢁꢄꢐꢈꢘꢍꢂꢉꢈꢆꢋꢄꢈꢑꢂꢆꢁꢆꢌꢂꢃꢂꢏꢁꢜꢨꢘꢄꢛꢏꢈꢖꢊꢗꢈꢂꢋꢙꢇꢃꢂꢔꢇꢁꢕꢐꢱꢐꢉꢈꢖꢝꢆꢍꢥꢂꢔꢋꢍꢖꢂꢗꢑꢍꢘꢐꢆꢙꢂꢁꢑꢁꢉꢋꢄꢈꢑꢙꢋꢃꢂ 
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ꢀꢀꢀꢁꢂꢁꢃꢄꢅꢃꢀꢆꢇꢁꢃꢈꢉꢊꢋꢌꢍꢁꢆꢈꢊꢅꢎꢁꢆꢋꢌꢎꢏꢊꢈꢂꢀꢐꢈꢍꢁꢑꢆꢋꢏꢈꢐꢏꢒꢈꢂꢀꢐꢈꢍꢓꢁꢂꢈꢆꢍꢔꢁꢕꢊꢀꢆꢏꢐꢀꢁꢖꢗꢁꢘꢇꢊꢀꢁꢌꢀꢙꢀꢎꢁꢀꢊꢋꢌꢃꢈꢚꢁꢛꢔꢜꢁꢝꢘꢁꢐꢀꢆꢁꢈꢊꢈꢂꢇꢐꢞꢁꢆꢋꢌꢉꢗꢁ  
ꢟꢊꢠꢐꢉꢍꢔ 
ꢡꢁꢢꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁꢘꢤꢥꢋꢎꢋꢁꢉꢈꢐꢎꢣꢈꢊꢈꢂꢀꢎꢁꢂꢏꢒꢍꢠꢊꢐꢇꢦꢁꢐꢋꢘꢠꢧꢊꢏꢁꢃꢣꢀꢌꢉꢊꢏꢐꢗꢦꢁꢐꢋꢆꢈꢝꢙꢠꢒꢅꢧꢊꢏꢁꢉꢁꢨꢐꢏꢉꢍꢁꢋꢊꢋꢉꢎꢣꢈꢊꢗꢎꢍꢁꢐꢋꢖꢈꢁꢐꢋꢐꢅꢧꢊꢏꢁꢩꢏꢐꢀꢉꢁꢘꢋꢝꢙꢀꢐꢏꢝꢉꢗꢁ 
ꢃꢈꢪꢉꢈꢒꢋꢐꢔꢁꢫꢈꢉꢍꢆꢁꢀꢐꢈꢦꢁꢩꢋꢁꢎꢄꢋꢖꢀꢁꢩꢋꢩꢁꢈꢆꢌꢎꢀꢂꢏꢎꢁꢘꢏꢘꢈꢁꢃꢣꢈꢂꢈꢒꢁꢀꢁꢃꢈꢂꢇꢄꢏꢎꢁꢈꢆꢖꢈꢣꢐꢬꢁꢌꢋꢣꢂꢏꢌꢁꢩꢋꢙꢈꢁꢉꢈꢐꢎꢣꢈꢊꢈꢍꢔ 
ꢡꢁ ꢭꢁ ꢒꢏꢘꢐꢅꢘꢁ ꢈꢖꢆꢈꢖꢅꢦꢁ ꢐꢋꢖꢈꢁ ꢩꢋꢧꢊꢏꢁ ꢂꢈꢒꢏꢆꢊꢈꢁ ꢟꢀꢌꢎꢈꢁ ꢈꢆꢌꢎꢀꢂꢋꢐꢈꢁ ꢘꢏꢘꢈꢁ ꢃꢣꢈꢂꢈꢒꢁ ꢟꢏꢁ ꢩꢋꢒꢆꢅꢧꢊꢏꢁ ꢉꢣꢠꢎꢉꢞꢁ ꢎꢣꢀꢌꢗꢦꢁ ꢉꢆꢗꢁ ꢌꢋꢁ ꢖꢀꢎꢋꢣꢏꢋꢁ ꢃꢈꢁ ꢌꢎꢀꢣꢎꢍꢁ 
ꢆꢈꢌꢎꢀꢎꢋꢟꢐꢇꢁꢐꢋꢆꢈꢖꢏꢩꢋꢦꢁꢐꢋꢖꢈꢁꢩꢌꢈꢍꢧꢊꢏꢁꢂꢋꢊꢘꢏꢁꢐꢅꢒꢉꢞꢁꢎꢋꢃꢊꢈꢎꢗꢁꢑꢧꢁꢮꢯꢁꢰꢱꢁꢟꢏꢁꢘꢞꢐꢇꢓꢦꢁꢆꢈꢖꢅꢩꢋꢩꢎꢋꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁꢆꢈꢆꢀꢎꢋꢟꢐꢇꢦꢁꢒꢀꢩꢏꢌꢎꢅꢎꢋꢁꢎꢅꢘꢁꢄꢠꢆꢐꢈꢍꢁ 
ꢆꢋꢌꢍꢊꢲꢀꢎꢀꢝꢏꢔꢁ ꢫꢀꢘꢀꢎꢍꢩꢎꢋꢦꢁ ꢥꢋꢁ ꢂꢁ ꢒꢏꢘꢐꢅꢘꢁ ꢈꢖꢆꢈꢖꢅꢁ ꢩꢌꢈꢍꢁ ꢐꢀꢁ ꢀꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁ ꢉꢊꢀꢆꢋꢐꢗꢁ ꢂꢗꢪꢪꢅꢁ ꢃꢣꢈꢂꢈꢒꢐꢅꢁ ꢐꢠꢣꢈꢉꢗꢔꢁ ꢳꢈꢖꢅꢩꢋꢐꢅꢁ ꢏꢁ ꢂꢗꢖꢅꢩꢋꢐꢅꢁ 
ꢀꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢍꢁ ꢩꢋꢁ ꢃꢈꢘꢀꢊꢋꢩꢪꢅꢁ ꢑꢒꢃꢈꢘꢀꢊꢋꢐꢅꢁ ꢝꢙꢋꢘꢏꢝꢉꢬꢝꢙꢁ ꢣꢋꢀꢉꢝꢅꢓꢦꢁ ꢐꢀꢌꢎꢀꢣꢎꢈꢂꢠꢐꢅꢁ ꢘꢈꢎꢈꢣꢍꢁ ꢎꢣꢂꢠꢁ ꢆꢞꢊꢋꢁ ꢂꢒꢙꢊꢋꢆꢋꢘꢁ ꢉꢁ ꢒꢎꢍꢙꢊꢞꢘꢍꢁ ꢈꢊꢋꢩꢏꢁ ꢀꢀꢀꢁ 
ꢃꢈꢘꢀꢊꢋꢩꢏꢁꢃꢄꢋꢎꢞꢉꢀꢩꢅꢝꢅꢘꢍꢁꢃꢀꢊꢏꢂꢍꢦꢁꢈꢆꢖꢇꢣꢁꢋꢐꢋꢣꢴꢏꢋꢁꢒꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢍꢁꢌꢋꢁꢎꢅꢘꢁꢒꢂꢬꢪꢅꢁꢀꢁꢌꢎꢋꢩꢐꢇꢁꢎꢀꢉꢁꢋꢐꢋꢣꢴꢏꢋꢁꢀꢁꢟꢀꢌꢁꢃꢈꢎꢄꢋꢖꢐꢬꢁꢉꢁꢆꢈꢌꢎꢀꢎꢋꢟꢐꢞꢘꢍꢁ 
ꢆꢈꢖꢏꢎꢅꢔ 
ꢡꢁꢢꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁꢍꢆꢣꢥꢍꢩꢎꢋꢁꢂꢁꢟꢏꢌꢎꢈꢎꢇꢦꢁꢘꢏꢘꢈꢁꢒꢆꢣꢈꢩꢁꢎꢋꢃꢋꢊꢐꢞꢙꢈꢁꢀꢁꢌꢊꢍꢐꢋꢟꢐꢅꢙꢈꢁꢒꢠꢄꢋꢐꢅꢁꢑꢂꢁꢀꢍꢎꢈꢘꢈꢖꢏꢊꢍꢁꢃꢈꢍꢥꢅꢂꢋꢩꢎꢋꢁꢏꢒꢈꢊꢀꢟꢐꢅꢁꢈꢖꢀꢊꢦꢁꢝꢙꢣꢠꢐꢅꢁ  
ꢀꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁꢃꢄꢋꢆꢁꢌꢠꢊꢀꢂꢬꢘꢁꢎꢋꢃꢊꢋꢘꢁꢒꢁꢘꢈꢎꢈꢣꢍꢓꢔꢁꢀ ꢈꢐꢋꢉꢎꢈꢣꢗꢁꢀꢁꢌꢂꢈꢣꢉꢗꢁꢍꢆꢣꢥꢍꢩꢎꢋꢁꢣꢈꢂꢐꢇꢥꢁꢟꢏꢌꢎꢞꢁꢀꢁꢒꢀꢉꢈꢐꢒꢋꢣꢂꢈꢂꢀꢐꢞꢁꢉꢗꢌꢋꢊꢏꢐꢈꢂꢒꢆꢈꢣꢐꢬꢘꢁ 
ꢎꢍꢉꢋꢘꢁꢑꢐꢋꢩꢊꢞꢃꢋꢁꢎꢍꢙꢠꢁꢘꢀꢒꢏꢂꢀꢁꢐꢋꢖꢈꢁꢈꢊꢋꢩꢓꢔ 
ꢡꢁꢫꢄꢋꢆꢁꢆꢊꢈꢍꢙꢈꢆꢈꢖꢬꢘꢁꢍꢌꢉꢊꢀꢆꢐꢇꢐꢅꢘꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁꢆꢈꢖꢏꢩꢎꢋꢔꢁꢀ ꢠꢆꢈꢖꢍꢁꢈꢟꢏꢌꢎꢇꢎꢋꢁꢀꢁꢃꢷꢊꢗꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢍꢁꢒꢀꢉꢈꢐꢒꢋꢣꢂꢍꢩꢎꢋꢔꢁꢀ ꢉꢊꢀꢆꢍꢩꢎꢋꢁꢂꢁꢌꢍꢝꢙꢍꢁ 
ꢑꢆꢈꢁꢀ ꢯ ꢁꢣꢋꢊꢀꢎꢏꢂꢐꢅꢁꢂꢊꢙꢉꢈꢌꢎꢏꢓꢦꢁꢂꢁꢎꢋꢘꢐꢍꢦꢁꢌꢁꢎꢋꢃꢊꢈꢎꢈꢍꢁꢈꢆꢁꢜꢰꢁꢆꢈꢁꢘꢀꢀ ꢏꢘꢠꢊꢐꢇꢁꢛꢜꢰꢁꢱꢔꢁꢀ ꢇꢥꢐꢞꢁꢃꢈꢉꢈꢩꢈꢂꢞꢁꢎꢋꢃꢊꢈꢎꢗꢁꢐꢋꢩꢌꢈꢍꢁꢂꢙꢈꢆꢐꢞꢔꢁꢀ ꢀꢀꢀꢁ  

ꢀꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢗꢁꢐꢏꢉꢆꢗꢁꢐꢋꢃꢈꢉꢊꢠꢆꢋꢩꢎꢋꢁꢥꢠꢆꢐꢞꢁꢃꢄꢋꢆꢘꢇꢎꢗꢔꢁꢀ ꢏꢉꢆꢗꢁꢐꢋꢌꢉꢊꢀꢆꢍꢩꢎꢋꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁꢂꢋꢁꢂꢗꢖꢏꢎꢞꢘꢁꢌꢎꢀꢂꢍꢔ 
ꢡꢁꢀ ꢇꢙꢋꢘꢁꢍꢌꢉꢊꢀꢆꢐꢇꢐꢅꢁꢉꢈꢐꢎꢣꢈꢊꢍꢩꢎꢋꢁꢐꢀꢃꢇꢎꢅꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢍꢦꢁꢀꢊꢋꢌꢃꢈꢚꢁꢩꢋꢆꢐꢈꢍꢁꢒꢀꢁꢀ ꢀꢁꢘꢇꢌꢅꢝꢤꢔꢁꢫꢈꢉꢊꢋꢌꢐꢋꢧꢊꢏꢁꢐꢀꢃꢇꢎꢅꢁꢃꢈꢆꢁꢨꢣꢈꢂꢋꢚꢁꢛꢮꢔꢾꢭꢦꢁ  
ꢆꢈꢖꢏꢩꢎꢋꢁꢩꢋꢩꢔꢁꢀ ꢀꢁꢀꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢍꢁꢐꢋꢍꢌꢎꢠꢊꢋꢁꢃꢣꢈꢖꢅꢙꢀꢩꢅꢁꢝꢙꢋꢘꢏꢝꢉꢞꢁꢣꢋꢀꢉꢝꢋꢦꢁꢏꢁꢂꢁꢆꢈꢖꢇꢦꢁꢉꢆꢗꢁꢐꢋꢐꢅꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁꢂꢁꢃꢣꢈꢂꢈꢒꢍꢔꢁꢀ ꢅꢘꢁꢆꢈꢝꢙꢠꢒꢅꢁꢉꢁꢩꢋꢙꢈꢁ 
ꢃꢈꢘꢀꢊꢞꢘꢍꢁꢌꢀꢘꢈꢂꢈꢊꢐꢞꢘꢍꢁꢂꢗꢖꢅꢩꢋꢐꢅꢦꢁꢀꢊꢋꢁꢎꢀꢉꢞꢁꢌꢎꢠꢣꢐꢍꢎꢅꢔ 
ꢡꢁꢫꢄꢏꢁꢃꢄꢋꢃꢣꢀꢂꢇꢁꢒꢀꢝꢙꢠꢒꢋꢩꢎꢋꢁꢌꢁꢐꢀꢃꢊꢐꢇꢐꢬꢘꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢋꢘꢁꢩꢀꢉꢈꢁꢌꢁꢐꢋꢖꢋꢒꢃꢋꢟꢐꢬꢘꢁꢐꢠꢉꢊꢀꢆꢋꢘꢔꢁꢀ ꢀꢀꢩꢏꢌꢎꢇꢎꢋꢁꢀꢖꢗꢁꢐꢋꢆꢈꢪꢊꢈꢁꢉꢁꢃꢈꢪꢉꢈꢒꢋꢐꢅꢁ  
ꢐꢠꢆꢈꢖꢗꢁꢑꢐꢋꢖꢈꢁꢉꢁꢃꢄꢋꢂꢣꢥꢋꢐꢅꢓꢦꢁꢃꢈꢎꢀꢥꢘꢈꢁꢨꢐꢏꢉꢍꢁꢋꢊꢋꢉꢎꢣꢈꢊꢗꢎꢍꢔꢁꢳꢠꢊꢋꢁꢃꢄꢏꢁꢃꢄꢋꢃꢣꢀꢂꢇꢁꢆꢖꢋꢩꢎꢋꢁꢐꢀꢁꢌꢃꢣꢠꢂꢐꢞꢁꢒꢀꢩꢏꢪꢎꢇꢐꢅꢁꢃꢣꢈꢎꢏꢁꢃꢈꢌꢍꢐꢍꢁꢀꢁꢣꢈꢂꢐꢇꢥꢁ 
ꢒꢀꢩꢏꢌꢎꢇꢎꢋꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁꢃꢣꢈꢎꢏꢁꢒꢉꢣꢀꢎꢍꢔ 
ꢡꢁꢫꢄꢏꢁꢘꢀꢐꢏꢃꢍꢊꢀꢝꢏꢁꢃꢈꢍꢥꢅꢂꢋꢩꢎꢋꢁꢃꢄꢋꢆꢋꢃꢌꢀꢐꢞꢁꢈꢝꢙꢣꢀꢐꢐꢞꢁꢃꢣꢀꢝꢈꢂꢐꢅꢁꢃꢈꢘꢤꢝꢉꢗꢁꢑꢐꢋꢩꢊꢞꢃꢋꢁꢀꢴꢍꢘꢈꢂꢞꢦꢁꢈꢆꢈꢊꢐꢞꢁꢃꢣꢈꢎꢏꢁꢥꢅꢣꢀꢂꢏꢐꢇꢁꢕꢮ  ꢾꢁꢀꢥꢁꢆꢈꢁ  
ꢉꢈꢐꢝꢋꢐꢎꢣꢀꢝꢋꢁꢜꢯꢁꢀ ꢓ ꢁꢈꢝꢙꢣꢀꢐꢐꢞꢁꢖꢣꢬꢊꢋꢦꢁꢈꢆꢇꢂꢁꢑꢃꢊꢠꢪ꣄ꢦꢁꢒꢠꢌꢎꢇꢣꢍꢁꢀꢎꢆꢔꢓꢦꢁꢣꢍꢉꢀꢂꢏꢝꢋꢁꢀꢁꢃꢋꢂꢐꢈꢍꢁꢈꢖꢍꢂꢔ 
ꢡꢁꢀ ꢀꢀꢉꢞꢉꢈꢊꢏꢂꢁꢒꢠꢌꢀꢙꢗꢁꢆꢈꢁꢉꢈꢐꢌꢎꢣꢍꢉꢝꢋꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢍꢁꢐꢋꢩꢌꢈꢍꢁꢃꢈꢂꢈꢊꢋꢐꢗꢔꢁꢭꢁꢃꢄꢅꢃꢀꢆꢇꢁꢃꢈꢆꢋꢒꢄꢋꢐꢅꢁꢐꢀꢁꢒꢠꢂꢀꢆꢍꢁꢌꢋꢁꢂꢥꢆꢗꢁꢈꢖꢣꢀꢀ꣄ꢎꢋꢁꢌꢁꢥꢠꢆꢈꢌꢎꢅꢁ 
ꢈꢁꢉꢈꢐꢎꢣꢈꢊꢍꢁꢐꢀꢁꢈꢆꢖꢈꢣꢐꢅꢉꢗꢦꢁꢐꢋꢃꢈꢉꢈꢍꢪꢋꢩꢎꢋꢁꢌꢋꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢁꢈꢃꢣꢀꢂꢈꢂꢀꢎꢔ 
ꢡꢁꢀ ꢀꢁꢈꢆꢌꢎꢣꢀꢐꢇꢐꢅꢁꢘꢋꢐꢪꢅꢙꢈꢁꢘꢐꢈꢥꢌꢎꢂꢅꢁꢋꢊꢋꢉꢎꢣꢈꢊꢗꢎꢍꢦꢁꢃꢄꢏꢁꢐꢠꢙꢈꢆꢐꢞꢘꢁꢨꢐꢏꢉꢍꢁꢒꢁꢐꢠꢆꢈꢖꢗꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢍꢁꢑꢆꢈꢁꢛꢯꢁꢘꢊꢓꢦꢁꢘꢤꢥꢋꢎꢋꢁꢃꢈꢍꢥꢅꢎꢁꢌꢀꢂꢬꢁ  
ꢃꢀꢃꢅꢣꢁꢑꢐꢀꢃꢄꢔꢁꢎꢈꢀꢊꢋꢎꢐꢅꢓꢦꢁꢉꢎꢋꢣꢬꢘꢁꢌꢎꢅꢣꢋꢩꢎꢋꢁꢒꢀꢌꢀꢥꢋꢐꢈꢍꢁꢈꢖꢊꢀꢌꢎꢁꢀꢥꢁꢒꢝꢋꢊꢀꢁꢆꢈꢁꢌꢍꢝꢙꢀꢔꢁꢫꢈꢎꢞꢁꢘꢅꢌꢎꢈꢁꢈꢃꢊꢠꢝꢙꢐꢇꢎꢋꢁꢐꢀꢃꢄꢔꢁꢘꢬꢆꢊꢈꢂꢈꢍꢁꢂꢈꢆꢈꢍꢦꢁꢉꢁ 
ꢐꢋꢍꢎꢣꢀꢊꢏꢒꢀꢝꢏꢁꢂꢇꢎꢪꢅꢙꢈꢁꢘꢐꢈꢥꢌꢎꢂꢅꢁꢋꢊꢋꢉꢎꢣꢈꢊꢗꢎꢍꢁꢃꢈꢍꢥꢏꢩꢎꢋꢁꢐꢀꢃꢄꢔꢁꢃꢣꢠꢪꢉꢈꢂꢈꢍꢁꢩꢋꢆꢊꢈꢍꢁꢌꢈꢆꢍꢁꢐꢋꢖꢈꢁꢂꢠꢃꢐꢈꢔꢁꢀ ꢈꢐꢎꢀꢘꢏꢐꢈꢂꢀꢐꢈꢍꢁꢈꢖꢊꢀꢌꢎꢁꢃꢈꢌꢗꢃꢎꢋꢁ 
ꢆꢈꢌꢎꢀꢎꢋꢟꢐꢬꢘꢁꢘꢐꢈꢥꢌꢎꢂꢅꢘꢔꢁꢀ ꢘꢇꢌꢁꢊꢒꢋꢁꢃꢈꢁꢐꢋꢍꢎꢣꢀꢊꢏꢒꢀꢝꢏꢁꢑꢃꢈꢎꢞꢦꢁꢝꢈꢁꢃꢣꢠꢪꢋꢉꢁꢀꢖꢌꢈꢣꢖꢍꢩꢋꢁꢂꢋꢪꢉꢋꢣꢈꢍꢁꢎꢋꢉꢍꢎꢏꢐꢍꢓꢁꢖꢋꢒꢁꢈꢖꢀꢂꢁꢒꢊꢏꢉꢂꢏꢆꢈꢂꢀꢎꢁꢌꢁ  
ꢉꢈꢘꢍꢐꢠꢊꢐꢅꢘꢁꢈꢆꢃꢀꢆꢋꢘꢁꢑꢐꢋꢃꢊꢀꢎꢅꢁꢃꢣꢈꢁꢃꢣꢤꢘꢗꢌꢊꢈꢂꢬꢁꢃꢣꢈꢂꢈꢒ꣆ꢓꢔ 
ꢡꢁꢀ ꢊꢈꢂꢇꢐꢞꢁꢀꢉꢍꢘꢍꢊꢠꢎꢈꢣꢗꢁꢐꢋꢍꢌꢉꢊꢀꢆꢚꢍꢩꢎꢋꢁꢀꢐꢏꢁꢐꢋꢐꢀꢖꢅꢩꢋꢩꢎꢋꢁꢌꢃꢈꢊꢋꢟꢐꢇꢁꢌꢁꢀꢊꢉꢀꢊꢏꢝꢉꢬꢘꢏꢁꢖꢀꢎꢋꢣꢏꢋꢘꢏꢔ 

První pomoc: 

ꢡꢁꢫꢄꢏꢁꢃꢈꢣꢀꢐꢇꢐꢅꢁꢈꢟꢅꢁꢥꢅꢣꢀꢂꢏꢐꢈꢍꢁꢑꢣꢈꢒꢎꢈꢉꢁꢉꢗꢌꢋꢊꢏꢐꢗꢁꢌꢅꢣꢈꢂꢞꢓ ꢁꢒꢀꢌꢀꢥꢋꢐꢈꢍꢁꢈꢖꢊꢀꢌꢎꢁꢑꢈꢉꢈꢁꢀꢁꢈꢉꢈꢊꢅꢓꢁꢏꢐꢎꢋꢐꢒꢏꢂꢐꢇꢁꢃꢣꢈꢃꢊꢀꢝꢙꢍꢩꢎꢋꢁꢃꢣꢈꢍꢆꢋꢘꢁꢂꢊꢀꢥꢐꢞꢁ 
ꢟꢏꢌꢎꢞꢁꢎꢋꢉꢈꢍꢝꢅꢁꢂꢈꢆꢗꢁꢀꢊꢋꢌꢃꢈꢚꢁꢛꢜꢁꢘꢏꢐꢍꢎꢔꢁꢀ ꢉꢈꢁꢃꢣꢈꢃꢊꢀꢝꢙꢍꢩꢎꢋꢁꢆꢤꢉꢊꢀꢆꢐꢇꢁꢈꢎꢋꢂꢄꢋꢐꢞꢔꢁꢭꢗꢙꢊꢋꢆꢋꢩꢎꢋꢁꢈꢆꢖꢈꢣꢐꢈꢍꢁꢊꢞꢉꢀꢄꢌꢉꢈꢍꢁꢃꢈꢘꢈꢝꢔ 

ꢡꢁꢫꢄꢏꢁꢃꢈꢎꢄꢅꢌꢐꢇꢐꢅꢁꢃꢈꢉꢈꢥꢉꢗꢁꢐꢋꢖꢈꢁꢈꢆꢇꢂꢍꢁꢥꢅꢣꢀꢂꢏꢐꢈꢍꢁꢑꢣꢈꢒꢎꢈꢉꢁꢉꢗꢌꢋꢊꢏꢐꢗꢁꢌꢅꢣꢈꢂꢞꢓ ꢁꢒꢀꢌꢀꢥꢋꢐꢈꢍꢁꢈꢖꢊꢀꢌꢎꢁꢏꢐꢎꢋꢐꢒꢏꢂꢐꢇꢁꢃꢣꢈꢃꢊꢀꢝꢙꢍꢩꢎꢋꢁꢃꢣꢈꢍꢆꢋꢘꢁ 
ꢂꢊꢀꢥꢐꢞꢁꢟꢏꢌꢎꢞꢁꢎꢋꢉꢈꢍꢝꢅꢁꢂꢈꢆꢗꢁꢀꢊꢋꢌꢃꢈꢚꢁꢛꢜꢁꢘꢏꢐꢍꢎꢔꢁꢀ ꢈꢐꢎꢀꢘꢏꢐꢈꢂꢀꢐꢬꢁꢈꢆꢇꢂꢁꢈꢆꢌꢎꢣꢀꢚꢎꢋꢔꢁꢭꢗꢙꢊꢋꢆꢋꢩꢎꢋꢁꢈꢆꢖꢈꢣꢐꢈꢍꢁꢊꢞꢉꢀꢄꢌꢉꢈꢍꢁꢃꢈꢘꢈꢝꢔ 

ꢡꢁꢫꢄꢏꢁꢃꢈꢥꢏꢎꢅꢁꢥꢅꢣꢀꢂꢏꢐꢗꢁꢑꢣꢈꢒꢎꢈꢉꢁꢉꢗꢌꢋꢊꢏꢐꢗꢁꢌꢅꢣꢈꢂꢞꢓ ꢁꢨꢌꢎꢀꢁꢏꢐꢎꢋꢐꢒꢏꢂꢐꢇꢁꢃꢣꢈꢃꢊꢀꢝꢙꢍꢩꢎꢋꢁꢃꢣꢈꢍꢆꢋꢘꢁꢂꢊꢀꢥꢐꢞꢁꢟꢏꢌꢎꢞꢁꢎꢋꢉꢈꢍꢝꢅꢁꢂꢈꢆꢗꢦꢁꢀꢊꢋꢌꢃꢈꢚꢁꢛꢜꢁ  

ꢘꢏꢐꢍꢎꢔꢁ ꢫꢄꢏꢁ ꢃꢈꢊꢉꢐꢍꢎꢅꢁ ꢀ ꣇ꢭ꣈ꢭ ꣉꣊ꢭ꣇ꢀ ꢀ ꣇ꢀꢁ ꢒꢂꢣꢀꢝꢋꢐꢅꢔꢁ ꢫꢏꢩꢎꢋꢁ ꢂꢋꢊꢉꢞꢁ ꢘꢐꢈꢥꢌꢎꢂꢅꢁ ꢂꢈꢆꢗꢁ ꢀꢀꢀꢁ ꢈꢉꢀꢘꢥꢏꢎꢇꢁ ꢂꢗꢙꢊꢋꢆꢋꢩꢎꢋꢁ ꢈꢆꢖꢈꢣꢐꢈꢍꢁ ꢊꢞꢉꢀꢄꢌꢉꢈꢍꢁ 
ꢃꢈꢘꢈꢝꢔ 

ꢡꢁꢫꢄꢏꢁꢃꢈꢃꢠꢊꢋꢐꢅꢁꢟꢠꢌꢎꢅꢁꢎꢇꢊꢀꢁꢑꢃꢈꢉꢈꢥꢉꢗꢓ ꢁꢃꢄꢏꢁꢃꢈꢃꢠꢊꢋꢐꢅꢁꢋꢊꢋꢉꢎꢣꢏꢝꢉꢬꢘꢁꢈꢖꢊꢈꢍꢉꢋꢘꢁꢐꢋꢖꢈꢁꢈꢁꢣꢈꢒꢃꢠꢊꢋꢐꢞꢁꢉꢈꢂꢈꢂꢞꢁꢃꢄꢋꢆꢘꢇꢎꢗꢁꢆꢤꢌꢊꢋꢆꢉꢋꢘꢁꢒꢉꢣꢀꢎꢍꢁ 
ꢂꢥꢆꢗꢁꢂꢗꢙꢊꢋꢆꢋꢩꢎꢋꢁꢈꢆꢖꢈꢣꢐꢈꢍꢁꢊꢞꢉꢀꢄꢌꢉꢈꢍꢁꢃꢈꢘꢈꢝꢔ 

c) nabíjení 

ꢫꢣꢈꢝꢋꢌꢁꢐꢀꢖꢅꢩꢋꢐꢅꢁꢐꢋꢐꢅꢁꢌꢊꢈꢥꢏꢎꢬꢔꢁꢫꢈꢣꢀꢆꢅꢘꢋꢁꢭꢠꢘꢦꢁꢩꢀꢉꢁꢐꢀꢁꢎꢈꢔꢁꢫꢄꢋꢌꢎꢈꢦꢁꢐꢋꢩꢌꢎꢋꢧꢊꢏꢁꢌꢏꢁꢩꢏꢌꢎꢅꢦꢁꢂꢥꢆꢗꢁꢌꢋꢁꢣꢀꢆꢇꢩꢏꢁꢃꢈꢣꢀ꣋ꢎꢋꢁꢌꢁꢈꢆꢖꢈꢣꢐꢅꢉꢋꢘꢁꢐꢋꢖꢈꢁ 
ꢃꢄꢋꢐꢋꢝꢙꢋꢩꢎꢋꢁꢎꢍꢎꢈꢁꢟꢏꢐꢐꢈꢌꢎꢁꢉꢂꢀꢊꢏꢲꢏꢉꢈꢂꢀꢐꢞꢁꢈꢌꢈꢖꢇꢔꢁ꣌ꢤꢥꢋꢎꢋꢁꢎꢀꢉꢞꢁꢃꢈꢍꢥꢅꢎꢁꢐꢠꢂꢈꢆꢁꢆꢈꢆꢠꢂꢀꢐꢬꢁꢉꢁꢐꢀꢖꢅꢩꢋꢟꢝꢋꢔꢁꢀ ꢇꢉꢎꢋꢣꢞꢁꢃꢀꢌꢠꢥꢋꢁꢎꢞꢎꢈꢁꢉꢀꢃꢏꢎꢈꢊꢗꢁ 
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ꢐꢸꢆꢁꢓꢸꢅꢢꢈꢟꢝꢞꢁꢗꢇꢠꢈꢎꢑꢁꢡꢝꢕꢈꢅꢢꢈꢎꢖꢁꢎꢈꢐꢘꢁꢡꢙꢈꢢꢏꢁꢗꢞꢢꢎꢖꢦ 

stav nabiꢀ  

00% 

mꢀ ꢂené napꢀ ꢀ  

12,8V 1 

7 5% 

0% 

5% 

12,5V 

5 12,4V 

2 12,1V 

11,9V 0 % 

ꢞꢚꢕꢛꢏꢆꢇ ꢅꢈꢒꢋꢓꢔꢅꢋꢗ ꢮꢁ ꢋꢁ ꢔꢠꢑꢔꢏꢟꢇꢁ ꢔꢘꢆꢠꢈꢐꢞꢁ ꢕꢞꢙꢣꢢꢖꢣꢘꢁ ꢎꢏꢐꢄꢆꢑꢁ ꢃꢈꢁ ꢗꢘꢊꢎꢖꢁ ꢓꢸꢃꢄꢗꢈꢒꢎꢇꢁ ꢔꢘꢂꢊꢑꢆꢁ ꢎꢏꢐꢑꢃꢈꢙꢑꢁ ꢔꢕꢘꢂꢟꢁ ꢓꢁ ꢣꢘꢟꢎꢘꢆꢇꢁ ꢏꢊꢁ ꢚꢬꢦꢁ ꢀ ꢀꢁ 
ꢏꢝꢂꢗꢂꢢꢌꢆꢘꢕꢂꢁꢘꢁꢝꢏꢔꢏꢙꢄꢆꢇꢁꢜꢫꢁꢯꢣꢁꢐꢂꢟꢈꢁꢆꢏꢝꢘꢓꢸꢁꢔꢕꢘꢂꢟꢁꢘꢟꢔꢘꢓꢑꢟꢏꢆꢁꢣꢘꢟꢎꢘꢆꢇꢁꢜꢫꢁꢯꢦꢁꢀ ꢑꢗꢆꢘꢁꢔꢕꢘꢂꢟꢈꢗꢁꢎꢏꢐꢑꢃꢈꢃꢆꢈꢁꢓꢍꢏꢝꢁꢗꢏꢰꢄꢗꢌꢢꢎꢇꢁꢳꢫꢁ  
ꢗꢄꢎꢂꢆꢁꢅꢁꢘꢣꢢꢈꢟꢈꢗꢁꢎꢏꢁꢆꢈꢔꢢꢘꢆꢂꢁꢈꢢꢈꢝꢆꢕꢘꢢꢞꢆꢂꣅꢁꢀ ꢇꢃꢆꢈꢁꢎꢏꢁꢔꢏꢗꢇꢆꢄꢉꢁꢊꢈꢁꢒꢑꢗꢁꢒꢏꢅꢆꢇꢃꢄꢁꢐꢂꢟꢈꢆꢈꢁꢔꢘꢂꢊꢑꢓꢏꢆꢁꢓꢞꢍꢍꢑꢁꢔꢕꢘꢂꢟꢞꢁꢝꢁꢎꢏꢐꢑꢃꢈꢎꢑꢁꢋꢏꢍꢑꢁꢐꢏꢆꢈꢕꢄꢈꢉꢁ 
ꢆꢑꢗꢁꢝꢕꢏꢆꢍꢑꢁꢊꢄꢓꢘꢆꢎꢘꢅꢆꢁꢢꢡꢈꢁꢂꢁꢏꢝꢂꢗꢂꢢꢌꢆꢘꢕꢂꢁꢓꢁꢐꢂꢟꢘꢂꢙꢎꢘꢅꢆꢄꢁꢘꢒꢈꢝꢌꢓꢏꢆꢦ 

ꢟꢏꢖꢒꢎꢙꢆꢇꢄꢚꢒꢐꢊꢋꢇꢀ ꢀꢁꢎꢈꢃꢔꢕꢓꢈꢁꢃꢈꢁꢆꢠꢈꢐꢏꢁꢆꢈꢎꢆꢘꢁꢔꢘꢃꢈꢗꢁꢟꢈꢲꢄꢎꢘꢓꢏꢆꢦꢁꢀ ꢇꢝꢆꢈꢠꢑꢁꢓꢸꢕꢘꢐꢙꢄꢁꢏꢝꢂꢗꢂꢢꢌꢆꢘꢕꢂꢁꢟꢈꢲꢄꢎꢂꢃꢑꢁꢣꢢꢂꢐꢘꢝꢖꢁꢓꢞꢐꢄꢆꢑꢁꢃꢄꢊꢁꢔꢠꢄꢁꢅꢔꢘꢆꢠꢈꢐꢇꢁ 
ꢀ  ꢫꢁ꣆ꢀꢁꢈꢎꢈꢕ ꢄꢈꢁꢏꢝꢂꢗꢂꢢꢌꢆꢘꢕꢂꢉꢁꢃꢄꢎꢑꢁꢆꢈꢔꢕꢓꢈꢁꢔꢠꢄꢁꢚꢫꢫꢁ꣆ꢦꢁꢋꢍꢈꢘꢐꢈꢙꢎꢇꢁꢓꢍꢏꢝꢁꢔꢢꢏꢆꢑꢉꢁꢊꢈꢁꢏꢝꢂꢗꢂꢢꢌꢆꢘꢕꢁꢃꢈꢁꢓꢞꢐꢄꢆꢸꢁꢔꢠꢄꢁꢅꢓꢘꢕꢝꢘꢓꢖꢗꢁꢝꢢꢄꢟꢘꢓꢖꢗꢁ  
ꢎꢏꢔꢇꢆꢑꢁꢚꢚꢦ꣇ꢀꢁꢋꢦꢁꢀ ꢏꢝꢖꢝꢘꢢꢄꢓꢁꢝꢢꢄꢟꢘꢓꢖꢁꢎꢏꢔꢇꢆꢑꢁꢔꢘꢟꢁꢆꢂꢆꢘꢁꢣꢕꢏꢎꢄꢙꢄꢁꢏꢝꢂꢗꢂꢢꢌꢆꢘꢕꢁꢓꢈꢢꢗꢄꢁꢔꢘꢍꢝꢘꢡꢂꢃꢈꢦꢁꢀ ꢈꢮꢢꢄꢁꢏꢝꢂꢗꢂꢢꢌꢆꢘꢕꢁꢓꢞꢐꢑꢃꢈꢎꢉꢁꢆꢈꢟꢞꢁꢡꢏꢆꢑꢊꢈꢎꢁ  
ꢘꢟꢐꢇꢕꢈꢗꢁꢔꢕꢘꢂꢟꢂꢉꢁꢎꢈꢅꢗꢑꢁꢅꢓꢘꢕꢝꢘꢓꢖꢁꢎꢏꢔꢇꢆꢑꢁꢝꢢꢈꢅꢎꢘꢂꢆꢁꢔꢘꢟꢁꢣꢕꢏꢎꢄꢙꢄꢁ꣇ꢦꢜꢁꢋꢦꢁꢀ ꢈꢮꢢꢄꢁꢏꢝꢂꢗꢂꢢꢌꢆꢘꢕꢁꢲꢂꢎꢝꢒꢎꢇꢁꢓꢁꢔꢘꢠꢌꢟꢝꢂꢉꢁꢓꢕꢌꢆꢑꢁꢅꢈꢁꢅꢓꢘꢕꢝꢘꢓꢖꢁ 
ꢎꢏꢔꢇꢆꢑꢁꢔꢘꢁꢘꢟꢔꢘꢃꢈꢎꢑꢁꢡꢌꢆꢇꢊꢈꢁꢎꢏꢁꢤꢕꢘꢓꢈ꣈ꢀꢁꢘꢝꢘꢢꢘꢁꢚꢛꢁꢋꢦ 

ꢀꢷ 



  
 

 
  

ꢀ  ꢀꢁꢂꢃꢄꢅꢂꢆꢇꢈꢉꢊꢋꢌꢍꢄꢃꢇꢈꢉꢅꢎꢍꢏꢐꢑꢆꢏꢈꢉꢅꢏꢒꢑꢉꢆꢑꢓꢉꢔꢕꢉꢖꢉꢑꢆꢑꢗꢘꢙꢑꢉꢚꢑꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢉꢅꢇꢗꢂꢝꢆꢞꢐꢙꢉꢄꢁꢄꢜꢟꢑꢍꢄꢅꢛꢅꢛꢉꢂꢉꢜꢏꢈꢉꢚꢑꢉꢝꢃꢗꢂꢒꢌꢐꢑꢉꢐꢑꢊꢄꢉ  
ꢓꢙꢅꢄꢜꢆꢄꢚꢜꢠꢉ ꢁꢂꢃꢄꢅꢂꢆꢇꢈꢉꢊꢋꢌꢍꢄꢃꢇꢈꢉꢅꢎꢍꢏꢐꢑꢆꢏꢈꢉꢅꢏꢒꢑꢉꢆꢑꢓꢉꢡꢕꢕꢉꢖꢉꢑꢆꢑꢗꢘꢙꢑꢉꢢꢄꢒꢊꢛꢝꢏꢉꢃꢉꢐꢑꢊꢄꢉꢆꢑꢅꢗꢂꢜꢆꢣꢈꢌꢉꢁꢄꢤꢃꢄꢝꢑꢆꢏꢥ 
ꢦꢑꢐꢚꢜꢑꢧꢋꢙꢉꢄꢢꢍꢄꢗꢆꢏꢃꢉꢨꢙꢉꢝꢃꢌꢤꢑꢆꢇꢉꢌꢓꢙꢅꢂꢜꢑꢋꢩꢉꢆꢑꢁꢄꢃꢄꢌꢤꢑꢐꢜꢑꢉꢚꢑꢉꢝꢍꢎꢜꢑꢨꢆꢞꢉꢚꢂꢈꢙꢉꢊꢋꢌꢍꢄꢒꢑꢉꢅꢎꢍꢙꢜꢇꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢉꢄꢓꢙꢅꢄꢅꢂꢜꢠꢉꢪꢂꢢꢞꢐꢙꢉꢐꢑꢐꢉꢚꢅꢞꢟꢜꢑꢉ 
ꢢꢄꢉꢁꢣꢨꢑꢉꢄꢢꢍꢄꢗꢆꢏꢃꢫꢠꢉ ꢓꢙꢅꢄꢅꢛꢆꢏꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢫꢉꢚꢑꢉꢄꢢꢉꢍꢞꢓꢆꢣꢊꢄꢉꢆꢂꢍꢏꢐꢑꢆꢏꢉꢈꢫꢓꢑꢉꢅꢇꢗꢂꢝꢆꢞꢉꢋꢙꢤꢙꢜꢠꢉꢬꢄꢤꢃꢄꢝꢑꢆꢏꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢌꢉꢅꢋꢙꢅꢑꢈꢉ  
ꢊꢋꢌꢍꢄꢃꢣꢊꢄꢉꢅꢎꢍꢙꢜꢏꢉꢆꢑꢍꢄꢉꢆꢑꢢꢄꢚꢜꢂꢜꢑꢨꢆꢣꢊꢄꢉꢭꢆꢑꢮꢁꢋꢆꢣꢊꢄꢯꢉꢢꢄꢍꢏꢐꢑꢆꢏꢉꢆꢑꢆꢏꢉꢅꢂꢢꢂꢩꢉꢆꢂꢉꢃꢜꢑꢗꢄꢌꢉꢚꢑꢉꢅꢝꢜꢂꢊꢌꢐꢑꢉꢄꢢꢁꢄꢅꢞꢢꢆꢄꢚꢜꢉꢅꢎꢁꢋꢇꢅꢂꢐꢏꢒꢏꢉꢝꢑꢉ  
ꢝꢛꢃꢄꢆꢆꢣꢉꢝꢛꢗꢌꢨꢆꢏꢉꢋꢊꢫꢜꢎꢠ 

ꢀ ꢀꢁꢂꢃꢄꢅꢆꢄꢇꢈꢉꢁꢂꢃꢄꢊꢋꢌꢍꢊ ꢰꢉꢝꢛꢃꢋꢂꢢꢆꢏꢉꢁꢗꢂꢅꢙꢢꢋꢄꢉꢄꢉꢄꢋꢄꢅꢞꢆꢇꢒꢊꢉꢍꢂꢜꢑꢗꢙꢏꢒꢊꢉꢟꢏꢃꢛꢩꢉꢌꢢꢗꢓꢌꢐꢜꢑꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢩꢉꢁꢄꢃꢌꢢꢉꢈꢄꢓꢆꢄꢩꢉꢆꢑꢌꢚꢜꢛꢋꢑꢉꢅꢉ  
ꢆꢂꢍꢙꢜꢣꢈꢉꢚꢜꢂꢅꢌꢠꢉꢦꢑꢁꢗꢄꢢꢋꢑꢆꢞꢩꢉꢁꢄꢉꢃꢂꢓꢢꢣꢈꢉꢙꢉꢨꢛꢚꢜꢑꢨꢆꢣꢈꢉꢅꢎꢍꢙꢜꢏꢩꢉꢐꢑꢐꢉꢄꢁꢞꢜꢉꢢꢄꢚꢜꢂꢜꢑꢨꢆꢞꢉꢢꢄꢍꢙꢐꢜꢑꢠꢉꢱꢉꢁꢟꢏꢁꢂꢢꢞꢉꢂꢌꢜꢄꢈꢄꢍꢙꢋꢌꢉꢚꢑꢉꢜꢑꢆꢜꢄꢉꢁꢗꢄꢒꢑꢚꢉ 
ꢄꢢꢑꢊꢗꢛꢅꢛꢉꢂꢌꢜꢄꢈꢂꢜꢙꢒꢃꢎꢩꢉꢐꢑꢧꢋꢙꢉꢈꢄꢜꢄꢗꢄꢅꢣꢉꢅꢄꢝꢙꢢꢋꢄꢉꢁꢗꢂꢅꢙꢢꢑꢋꢆꢞꢉꢁꢄꢌꢓꢏꢅꢛꢆꢄꢠꢉꢬꢄꢉꢃꢂꢓꢢꢣꢈꢉꢚꢜꢂꢗꢜꢌꢉꢂꢋꢜꢑꢗꢆꢛꢜꢄꢗꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢉꢁꢋꢆꢞꢉꢢꢄꢍꢙꢐꢑꢠꢉꢱꢉ 
ꢀꢁꢟꢏꢁꢂꢢꢞꢉꢁꢄꢗꢌꢒꢊꢎꢉꢂꢋꢜꢑꢗꢆꢛꢜꢄꢗꢌꢉꢐꢑꢉꢆꢌꢜꢆꢣꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢉꢢꢄꢢꢂꢜꢑꢨꢆꢞꢉꢢꢄꢍꢏꢜꢉꢂꢉꢁꢄꢗꢌꢒꢊꢌꢉꢙꢊꢆꢑꢢꢉꢄꢢꢚꢜꢗꢂꢆꢙꢜꢠ 

ꢎꢇꢏꢐꢊꢑꢅ ꢧꢉꢁꢟꢙꢉꢆꢂꢍꢏꢐꢑꢆꢏꢉꢐꢑꢉꢜꢟꢑꢍꢂꢉꢊꢋꢏꢢꢂꢜꢉꢜꢑꢁꢋꢄꢜꢌꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢌꢠꢉꢲꢑꢐꢈꢣꢆꢂꢉꢚꢜꢂꢗꢤꢏꢩꢉꢢꢣꢋꢑꢉꢁꢄꢌꢓꢏꢅꢂꢆꢣꢉꢆꢑꢍꢄꢉꢊꢋꢌꢍꢄꢒꢑꢉꢅꢎꢍꢙꢜꢣꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢎꢉ 
ꢈꢂꢐꢏꢉꢜꢑꢆꢢꢑꢆꢒꢙꢉꢚꢑꢉꢅꢏꢒꢑꢉꢝꢂꢊꢟꢏꢅꢂꢜꢠꢉꢱꢉꢁꢟꢏꢁꢂꢢꢞꢩꢉꢓꢑꢉꢜꢑꢁꢋꢄꢜꢂꢉꢁꢟꢙꢉꢆꢂꢍꢏꢐꢑꢆꢏꢉꢢꢄꢚꢛꢊꢆꢑꢉꢳꢕꢴꢉꢵꢩꢉꢐꢑꢉꢆꢌꢜꢆꢣꢉꢆꢂꢍꢏꢐꢑꢆꢏꢉꢁꢟꢑꢗꢌꢤꢙꢜꢉꢂꢉꢁꢄꢃꢗꢂꢨꢄꢅꢂꢜꢉ  
ꢜꢑꢁꢗꢅꢑꢉꢁꢄꢉꢢꢄꢚꢜꢂꢜꢑꢨꢆꢣꢈꢉꢄꢒꢊꢋꢂꢝꢑꢆꢏꢉꢭ ꢶꢷꢀꢴꢉꢵꢉꢂꢉꢈꢣꢆꢞꢯꢠ 

ꢬꢄꢚꢜꢌꢁꢉꢁꢟꢙꢉꢆꢂꢍꢏꢐꢑꢆꢏꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢌꢉꢈꢙꢈꢄꢉꢅꢄꢝꢙꢢꢋꢄꢉꢭꢢꢄꢢꢗꢓꢌꢐꢜꢑꢉꢍꢑꢝꢁꢑꢨꢆꢄꢚꢜꢆꢏꢉꢁꢄꢃꢎꢆꢎꢉꢁꢄꢁꢚꢂꢆꢣꢉꢅꢉꢜꢄꢈꢜꢄꢉꢆꢛꢅꢄꢢꢌꢯꢸ 

ꢡꢯꢉꢬꢟꢑꢢꢉꢆꢂꢍꢏꢐꢑꢆꢏꢈꢉꢅꢎꢐꢈꢞꢜꢑꢉꢂꢃꢌꢈꢌꢋꢛꢜꢄꢗꢉꢝꢉꢅꢄꢝꢙꢢꢋꢂꢠꢉꢬꢟꢙꢉꢄꢢꢁꢄꢐꢄꢅꢛꢆꢏꢉꢍꢂꢜꢑꢗꢙꢑꢉꢄꢢꢉꢑꢋꢑꢃꢜꢗꢄꢙꢆꢚꢜꢂꢋꢂꢒꢑꢉꢅꢄꢝꢙꢢꢋꢂꢉꢄꢢꢁꢄꢐꢜꢑꢉꢆꢑꢐꢁꢗꢅꢑꢉꢚꢅꢄꢗꢃꢌꢉ 
ꢚꢑꢉꢝꢛꢁꢄꢗꢆꢇꢈꢉꢝꢆꢂꢈꢣꢆꢃꢑꢈꢠꢉ ꢢꢁꢄꢐꢑꢆꢇꢉꢃꢂꢍꢑꢋꢉꢝꢂꢐꢙꢚꢜꢞꢜꢑꢉꢜꢂꢃꢩꢉꢂꢍꢎꢉꢚꢑꢉꢆꢑꢈꢄꢊꢋꢉꢁꢟꢙꢉꢈꢂꢆꢙꢁꢌꢋꢂꢒꢙꢉꢢꢄꢚꢜꢂꢜꢉꢄꢁꢞꢜꢉꢢꢄꢉꢚꢜꢎꢃꢌꢉꢚꢑꢉꢝꢛꢁꢄꢗꢆꢇꢈꢉ  
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